

$$L\left\{\int_0^t \sin 3t \, dt\right\} = \frac{3}{s^3 + 9s}$$

$$L\{\sin 3t\} = \frac{3}{s^2 + 9}$$

$$L^{-1}\left\{\frac{1}{s^3 + 9s}\right\} = \int_0^t \frac{1}{3} \sin 3t \, dt = -\frac{1}{9} \cos 3t \Big|_0^t = -\frac{1}{9} \cos 3t + \frac{1}{9}$$

$$L^{-1}\left\{\frac{\frac{1}{3}(3)}{s^2 + 9}\right\} = \frac{1}{3} \sin 3t$$

$$L\left\{e^{2t} \int_0^t \frac{u \sin 2u}{e^u} \, du\right\} = \frac{1}{(s-2)} \frac{4(s-1)}{((s-1)^2 + 4)^2} = \frac{4(s-1)}{(s-2)(s^2 - 2s + 5)^2}$$

$$L\{\sin 2u\} = \frac{2}{s^2 + 4} \quad L\{u \sin 2u\} = -\left(\frac{2}{s^2 + 4}\right)' = -\frac{0 - 4s}{(s^2 + 4)^2} = \frac{4s}{(s^2 + 4)^2}$$

$$L\left\{\frac{u \sin 2u}{e^u}\right\} = L\{e^{-u} u \sin 2u\} = \frac{4(s+1)}{((s+1)^2 + 4)^2}$$

$$L\left\{\int_0^t \frac{u \sin 2u}{e^u} \, du\right\} = \frac{1}{s} \frac{4(s+1)}{((s+1)^2 + 4)^2}$$

$$L\{y\} = Y(s), \quad L\{y'\} = sY(s) - y(0) = sY(s) - 2, \quad L\{y''\} = s^2Y(s) - sy(0) - y'(0) = s^2Y(s) - 2s + 1$$

$$s^2Y(s) - 2s + 1 - (sY(s) - 2) - 6Y(s) = 0 \Rightarrow (s^2 - s - 6)Y(s) = 2s - 3 \Rightarrow Y(s) = \frac{2s - 3}{s^2 - s - 6}$$

$$y(t) = L^{-1}\left\{\frac{2s - 3}{s^2 - s - 6}\right\} = L^{-1}\left\{\frac{2s - 3}{(s - 3)(s + 2)}\right\} = L^{-1}\left\{\frac{\frac{3}{5}}{s - 3} + \frac{\frac{-7}{-5}}{s + 2}\right\} = \frac{3}{5}e^{3t} + \frac{7}{5}e^{-2t}$$

$$L\{y\} = Y(s), \quad L\{y'\} = sY(s) - y(0) = sY(s) - 1, \quad L\{y''\} = s^2Y(s) - sy(0) - y'(0) = s^2Y(s) - s - 2$$

$$-(s^2Y(s) - s - 2)' + sY(s) - 1 + 2(sY(s) - 1)' - 2Y(s) = 0 \Rightarrow -(2sY(s) + s^2Y'(s) - 1) + sY(s) - 1 + 2(Y(s) + sY'(s)) - 2Y(s) = 0$$

$$\Rightarrow (-s^2 + 2s)Y'(s) + (-2s + s + 2 - 2)Y(s) = 0 \Rightarrow (-s^2 + 2s)Y'(s) = sY(s) \Rightarrow (-s + 2)Y'(s) = Y(s) \Rightarrow \frac{Y'(s)}{Y(s)} = \frac{1}{-s + 2}$$

$$\Rightarrow \ln Y(s) = -\ln(2 - s) \Rightarrow Y(s) = \frac{1}{2 - s} \Rightarrow y(x) = -e^{2x}$$

$$\mathcal{L}\{x\} = X(s), \quad \mathcal{L}\{x'\} = sX(s) - 0, \quad \mathcal{L}\{y\} = Y(s), \quad \mathcal{L}\{y'\} = sY(s) - 1$$

$$\begin{cases} sX(s) + 3X(s) - 4Y(s) = \frac{s}{s^2 + 1} \\ sY(s) - 1 - 3Y(s) + 2X(s) = \frac{1}{s^2} \end{cases} \Rightarrow \begin{cases} (s-3)((s+3)X(s) - 4Y(s) = \frac{s}{s^2 + 1}) \\ 4(2X(s) + (s-3)Y(s) = \frac{1}{s^2} + 1) \end{cases} \Rightarrow (s^2 - 9 + 8)X(s) = \frac{s(s-3)}{s^2 + 1} + \frac{4}{s^2} + 4$$

$$\Rightarrow (s^2 - 1)X(s) = \frac{s(s-3)}{s^2 + 1} + \frac{4 + 4s^2}{s^2} \Rightarrow X(s) = \frac{1}{(s^2 - 1)} \left(\frac{s(s-3)}{s^2 + 1} + \frac{4 + 4s^2}{s^2} \right)$$